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1. Complete the following DEFinition: fj)b o
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2. Suppose that H(x] = f{g(x)), and g{1) = 3, f{1) = 2, 7(3} = g( ) z -4, o
al(3) =8, and 1'(1) = -5, 1{2) = .5, (3) = 6, g(1) = 9, g 2) N
g'(3) = -10. Find: AN (8) J
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3. Using only the DEFinition (any form) find the derivative o {8)

f(x) = 3,/% - 2

[For possible half credit you may find 7'(4) instead.] Check your answer.
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4, Find the derivative of each of the following using forrmulas: (35}
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3. Find the following limits ( co allowed), or say they do not exist. (‘ig) L
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&. For what values {s the following function not céntinuous? (5)
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7. It costs $1000 a day overhead to run a plant, and $30 direct cost to
manufacture each item produced. , (a)
a. Write a function for the total cost to produce x items in a day.

“ Sls)= 1000 r30x

{}5‘( . b. What is the marginal total cost?
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8. The graphs below give z = T{u), and u=g(t). Find (and give units): (15}
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d. Anobject is travelling so that its position is given by g(t) at time t. /A1,
What is iis velocity whent = 17 4 U | :
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